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Instructions: - Solve the given worksheet in a separate notebook. 

1) Write the place value of 9 in 7869. 

2) Find the difference between the place value and face value of 2 in 6293. 

3) Write the place value of each digit in 6851. 

4) How much is 7005 greater than 5849? 

5) Convert 7 L 800 mL into litres. 

6) Convert 20789 ml into litres and millilitres. 

7) Arrange in columns and add. 

 15 L 700 ml and 48 L 600 ml 

8) A tanker had 800 litres of petrol. Out of it, 608 L 500 ml was delivered to the petrol 

pump. How much petrol is left in the tanker now? 

9) Sonal mixed 6 L 885 ml of hot water with 5 L 675 ml of cold water in the bucket. How 

much water is there in the bucket? 

10) A lady who weighed 84 kg 336 g joined a weight loss clinic. As a result she lost 8 kg 

678 g. How much does she weigh now? 

11) A grocer had 100 kg of sugar. He sold 15 kg 675 g to one customer and 34 kg 670 g to  

another customer. Find the weight of sugar left with him. 

12) Arrange in columns and find the difference between: 

a) 100 kg and 56 kg 678 g 

b) 2 L and 385 ml 

c) 1 quintal and 375 g 

13) Rahul bought 8 L 500 ml of milk. Out of it, 4 L 225 ml was used in preparing tea for  

party, 2 L 50 ml was used for preparing cheese and 899 ml was taken by her child. She 

used the remaining quantity for preparing curd. How much milk was used for the curd? 

14) Put the correct sign >,< or = in the boxes. 

 a) 4 kg 24 g  (      )  4224 g     b) 7 kg 98 g (       ) 7980 g 

15) Convert 3050 g into Kilograms and grams. 

16) Add: 75 L 75 ml, 7 L 7 ml, 67 L 78 ml and 7 L 678 ml 

17) How much is 9 m 67 cm less than 30 metres? 

18) Convert 56 m into cm. 

19) Richard is 87 cm tall. His father is 1 m 56 cm tall. How much taller than the son is the 

father? 

20) Mona’s office is 13 km away from her home. She covers 10 km 725 m of this distance 

by bus and the rest on foot. How much distance does she cover on foot? 

 

 


